1 BEREREEH(T10-1)

(FER24EE)
B P | | w02 | SRARET | 0BT | J11508T | CaREr | Amee| @iy | mans| e | (B
.!ﬁ".f\\ ﬁl L JL ==] T~ ~ 1 HIEIBT §§¢*
No. # % 1,132 242 487 43 28 59 20 70 53 14 117 59
10 N—FryhF 21 5 10 - - 2 - 1 1 - 2 3
20 ZHEMEFELE 18 2 6 - - 1 - 5 1 - 3 -
30 EEMENE 24 7 7 - - 2 2 1 2 - 3 1
40 E5HI)TIN—TR 62 14 27 - 3 2 3 2 - 9 2
50 A E v 1 1 - - - - - - - - - -
60 BEFREMAM 9 4 2 2 - - - - 1 - - 5
70 HIIA(RF—T R 68 16 26 3 3 3 2 7 2 1 5 6
80 P EMRMERIEELAE 14 4 4 1 - 1 1 1 - - 2 -
90| EERE-REFRRVSHEH L 89 19 48 4 1 4 1 4 3 - 5 2
100 HR MM/ MRE D RBER 34 9 14 1 1 4 - - 1 - 4 16
110 HE BT BOAR I B 2¢ 13 4 4 - - 2 1 1 1 - - -
120 EBEERER 255 50 120 10 10 12 1 14 10 26 7
130 RENAR X AEIERE 4 1 1 - - - - 1 - - 1 -
140 EaLH—R& 12 1 7 2 - 1 1 - - - - 1
150 X A & 10 2 4 - - - - - 1 - 3 1
160 BRI/ 48 6 18 3 1 3 2 2 2 2 9 -
170 y0—29% 56 7 29 2 2 4 - 3 3 3 3 1
180  EAM DO RDSEEIER - - - - - - - - - - - -
190 BRI T 2 - - - - - - - - 1 -
IR—F VU REER B GETIER
200] EHERRER., KRN R B EELE A 129 29 47 5 3 9 2 11 6 2 15 -
BUNR—F2V5R)
210 FIOAR—=DR 2 - 1 - - - - - - - 1 -
220 HMtHTSILE 52 11 20 4 2 4 1 4 2 1 3 2
230 INOFUNOERR 6 1 3 2 - - - - - - - -
240 1') R BN R R B ZAE 32 4 16 - 1 1 - 1 2 1 6 9
250 DI —RFEE 1 1 - - - - - - - - - -
260] AFFEMEARE (S5omE) LEE 18 3 7 - 1 1 - 2 1 - 3 -
L RMEME RIRAREEN
270) fE. A —T /NN EMBER VS ¥ 18 6 5 - - - - 1 3 - 3 -
A -FL—H—EEE)
280| F|EKAAE (EAME. XBBER) - - - - - - - - - - - -
290 e 78 i 8 4 2 1 - - - - 1 - - - -
300 LEEREREE 7 1 3 - - - 1 1 1 - - -
310 REMETEREE 11 3 4 - 1 - - - - - 3 -
320 BRESMER 2 - 1 - - - - 1 - - - -
330 Y F 1 KBR & BEIRSEAE 25 5 11 1 - - 1 3 1 2 2
340 BEMESHBE 10 3 5 1 - - - 1 - - - 1
350 FERERETSAEIRE 1 - 1 - - - - - - - - -
360 Y FE R B M A 12 6 2 2 - - - - 1 - 1 -
370 BEAREMEE 17 2 10 - - 1 1 1 - 1 -
380 IR 2 1 - - - - 1 - - - - -
390 [R S4B s I [E AE 2 - 2 - - - - - - - - -
400 IR IR R 3 - 2 - - - - - - - 1 -
410 FREE SR - - - - - - - - - - - -
420 INY T YREREE - - - - - - - - B B - -
430] EHFEERMEMMILERE (s mER) 1 - 1 - - - - - - - - -
440) 54V — L (77 7)) —[Fabry iR ET) 1 - 1 - - - - - - - - -
450 BEBHECRANAT— - - - - - - - - - - - -
460] RiEtEmaL 2T O—)LME GREREAE) - - - - - - - - - - - -
470 B EMEAE - - - - - - - - - - - -
480 HREWEFERE 1 1 - - - - - - - - - -
490 EMENIEIERREETES IR 4 1 2 - - - - - - - 1 -
500 REXRE DB IE 2 - 2 - - - - - - - - -
510 HREOEE - - - - - - - - - - - -
520 ShaVRYT IR 1 - - - - - - - - 1 - -
530 1> 1 IR B IESE (LAM) - - - - - - - - - - = -
540] EEZHBHMEAB (M) - - - - - - - - - - - -
550 HEHTEILE 3 - 1 - - - - - 2 - - -
PRL7 BEEAE 1 - 1 - - - - - - - - -
JFFrREC D EEAE - - - - - - - - - - - -
ADH7 B EEAE 4 2 1 - - - - - 1 - - -
560 TEAUTSHD WEERE 1 1 - - - - - - - - - -
Dy R 1 1 - - - - - - - - -
Seim B KAE 6 1 3 - - 1 - - 1 - - -
T EABEEIE TE 11 4 6 - - - - — 1 — 1 -

83




